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GENERAL MATHEMATICS

Full Marks : 90
Pass Marks : 27

Time : 3 hours

Candidates shall note that each question will be multilingual, viz., in
English/Assamese/Bengali/Bodo/Hindi medium, for their ready reference.
In case of any discrepancy or confusion in the medium / version,

the English version will be considered as the authentic version.

The figures in the margin indicate full marks for the questions.
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SECTION — A /35 — W1t / 3 — 14t / w—amgmit / 5—wmt

I.  Choose the correct answer :
W TeIh! e SfHed
w7 TG @ NS
T T |rew T g

y e :
4" 1fx e yand when x = 6 then y = 30. Now if x = 2 then the value of y is 1

W vocy SR r=6T @y =30 | afoqt =2 7@1y T —
W xocy @Ry =6, y=30 | 94 x =2 2@ y - GATAZE —
e v e y AR x = 6 TR y = 30 | grFr x = 2 Sratset y 3 e e —
A xoy IRy =6F, R y=30 | 3@ =2 @ y 57 7= FM -

@10 (d) 20
(#)” Which of the following is a square of an odd natural number ? 1

ETF (PICBT R qBt SR ey 3o 2

a1 R @l oy Ty 39 9

TR ATa SRR HHE S5 s @t 7

f= 4 8 o &t ger fawm den w1 @ 7

(a) 256 by 169

(c) 546 , (d) 754
@Thevalueof%+{[2—f+3@is— 1

8 +3/27 + 64 ITMZR

B + /27 + 64 - GAINTA~

8 + 327 + 364 F sy i -

8 + 27 + /64w wm g — -

(a) 6 (b) 7

NeT” 8 (d 9
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U(jyf)/E/uclid's division lemma states that if a and b are any two positive integers
then there exist unique integers ¢ and r such that

Boruq ot ST Sepifd afi a @%b RAGRIA! 751 e = TR0
ﬂWWEﬁTﬂﬁ@'ﬂm‘qurmWW—

STPToT Rroree eiia SPME I a @32 b @ @I 16 @sas 4
FR27! 2 SEE S b SESH AR q €3% r #EH AT @I —

gefRrely Ta 3w faTf @ifed i a 3 b stEfEsTEr A e
W'WWWWW@TWWQMrWW—
s e sfre % 3EER AR a 3R b & wATers QU & i U s

1

ot i q 39 ¢ forem 3 R — 5%
(a) a=bq+r,0<r<b ‘Lb)’a=bq~r,0<r5b -
(c) a=bgq+r,0<r<b (d a=bg+r,0<r<b

(v) The number of decimal places after which the decimal expansion of the

3

4
2_4><_53 will terminate. 1

rationa] number
3

oG T 575 A e s v o i v et

?e -

3 |
orﬁmwmz‘%s—}- = IR TR TR BT AR 28T TR

Y T |

3
e i 57— o 2a G g ety e ey
AR SraT - %‘E‘

43 =
Wmm%mmﬁmaﬁmwmﬁ;@n%_
(a) 3 (b) 4
(c) 1 (d 5
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: 5 » value of
iy 1f 1 is a zero of the polynomial p(x) = ba? + 4 (b + 1) | then the va l

b is
i o) = b +4(b + 1) + | IO BI X+ | 20 (STB b I 29—

T ) = h? + b+ 1)+ | IRMIR 9fB *) | 2 SIRCE b- 9% AW I —
IR p() = e + (b + 1) + | Fgrmisify did eferg’ s | S ST b
HET AT —

3fe SETE p(v) = ba? + 4(b + 1) + | 1 =% | &, @l b HH B —

(a) -1 (b)y 1

() 0 W -4

(vii) If the sum and product of the zeroes of a polynomial are p and g then the
1

polynomial is

3t Y IO T (IO 19T A 30 p S 2 (ST ILM! T —
A% GG TRATHR B 11T @ R p G q T OILE TG A —
e 7R feermiaify nfore wRf gromem St ST w1 p R q

ST 3ree fargraTaTeT WrTe —

af; et sgue 3 Yt 1 A 3R oE e p 3 q B A agug R —
(@ X7+ (p+ Qv+ pq (b) x*~(p+qi—pq

(€) x=(p+qk+pq (d) x*-pr+q

(viii) The condition that the line av + by + ¢ = 0 passes through the origin is
av + by + ¢ = 0 %94 (B! FARYI AEHE @R 5EH1 2 —
ax + by + ¢ = 0 FAIG JARE T ey qreqt =réf 2 —
av+ by + ¢ = 0 M gratan A e Aot i e s —
W ax + by + ¢ = 0 % 7ot fig & o 1 9 2

.m/a=0 %bzo

© c=0 (d) - c#0
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(ix) The coordimates of any point on y-axis is
v S GoAS X! ALHIAA fasga wrnea 5'q
\ ETEE Bord WA (O (Il faag letlea 304
e g amarE arr e feafs afa e s -

v-fa
v-a7e1 wt ferd fonefl farg 1 fadumin R —

e
=1

@ (0. (hy (. )
(c) (v.n) twhy (vny)
(x) One root of quadratic equation is 2 and the sum of the roots is 5 then the
1

equation Is

<1 e RTATR GB1 §e1 2 SHF TA UBA ST 5 (ST ANPATD! 2
&ﬁ%ﬂ@ﬂﬁ’rﬁmaﬁﬁzmwﬁﬁqmwsmﬁmﬁm
PR St aEeTEh A AgEn 2 R g AR g 5 e
TETFTEAT ST —

af Pl FeeTer G o o e 2 2 et 3 i 5 2, @ e & -
(B ¥-5x+6=0 (b) x*+5x-6=0

(¢) »¥-5x-6=0 (d) *-5x+2z0

2 Choose the correct answer of the following :

R e W Tedcn! Al SfAeat

e um TEAD (@RS EgE
et T et 9’ E‘%
fore 3 et I g :

4 .
(1) [fg. a. 2 are the three consecutive terms of an AP then the value of “a” 1S

i % 0.2 bt T atefen FofD! i o7 2 (OB 2 AR ZT -
a2, 2, 2 <t ram atsfom o s o 2 O 0= T 2R
‘ﬂ'ﬁ%aﬂﬁhﬂm@ﬁnﬂnﬁrﬁﬁﬂ%wﬁﬁﬁmmmaﬁfWW—

“fig‘, a2 P AP S i R g E A a A R -

7 5
@ 3 (b) 3
9
© 3 Wy S
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(i) AABC is an isosceles triangle in which ZC = 90°. If AC = 6 cm. then

AB=?
AABC 5! 531 fage 3'® £C = 90° | ot AC = 6 T =W CSfeH
AB="

AABC @35 i firgs @i £C = 90° | afit AC = 6 T, 20 oI
AB =7

AABC 31 A1 T @R smaErRem STa £C = 90°, I AC = 6 8
AT 3&AT AB = ?

AABC T wafgarg fingw & | Rl 2Cc =900 2 1 aR AC =6 TR A, A
AB=?

@ 672 co/T=:f /o7 1 Al et

X 6 em/T:f /. Ak A

(c) 2\!3 om/C=: /1.y Aty A

d) 42 em/r=f /e R AfEd

(iii) The distance of (3, —2) from the x-axis is 1
(3, -2) R05! x SR @Y 2]
(3, -2) FRegfba x ¥ eI RY =@
(3, —2) Tertam x -7 BrEfshT STHETEAT STTE —
(3,-2) figH r-amaghie -
(a) 3 () 13
(c) 1 2
(iv) The ratio in which y-axis divides the line segment joining the points (-2, 0)
and (4, 0) is 1
(=2, 0) BF (4. 0) TN @ARGT y-HE Sl 1 SS! T —
(=2, 0) 93 (4, 0) TN FLRGTT y-SCF SIS T TS’ T3
(=2, 0) 3 (4. 0) TOTEH FE T y R FRE STE e

TIATET ST —
gt (-2, 0) 3t (4, 0) P e T Yam F y-37 R o 3 R
(M523 (b) 1:2
(c) N}\l 4 @/2 1
B23-GM (EN/AS/BN/BD/HN) 6 3047



(v) A straight line which intersects a circle in two points is called -

(vi)

G1E I (IR b1 I8 0! 7 (ot 0T @forer 7' —

@3fb RN 9B T8 oS frpee v w9t @ =@

3 T BT HE A G e g e 7@ S —
e et v S 6l g1 1 Q) Rigait o sferede vl 2 98 e -

@/chord (b) radius EoE
L)l [P =
k)| Bt
fafe ziat g'@E
iCH =rET

(c) tangent (d) Secant
oz [CyEd
=i [ynd
Tifsre gHEa
sl @ Bk @1

y 3
If sin A =§then tan A="7?
ﬂﬁsinA=§tWtanA=? EZmE
5
3 0
IWsin A== SIFFA tan A =7
5
sinA=‘3‘ A= tan A =7
R 5
T sinA=> 8, AtanA=?
5
5 4

@ 3 (b) 3
3 2

€ 2 b 3

B23-GM (EN/AS/BN/BD/HN) 7
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: : ; 3 hat
(vii) If TP and TQ are the two tangents to a circle with centre O sot
1

ZPOQ = 110° then ZPTQ is equal to
T O o [ 951 969 TP AF TQ Joie =i, Aes LPOQ = 110° (LB

ZPTQ 3 NHZ'q ~
I O Y@ G J0ed TP @& TQ qfb =, Tre £POQ = 110° SRA

ZPTQ — 9% 79I« 2(F —
afz ‘0 fre i ARE AR TP I TQ A Tihw EEl, AEM
ZPOQ = 110°, 3T ZPTQ HHH AFTH —

M TP, TQ g O =Tt foeft 9t vt 2 ol Yard 39 wbr & fob £POQ = 110°

2, ZPTQ TR & —

Lo 60° (b) 70°
(c) 80° {4 90°

(viii) If the surface area of a cube is 486 cm? then its volume is —

<5 T “pIfe A% 486 (=:f:2 =X (ST TR e 37 —
GG AR “foile At 486 T1.74.2 20 orErE 93 SiRrew 71 —

A ThT forg Zaemster fe 486 A2 S sree Ay Astrmda S —
At forelt o 1 gt St 486 T R, A 3w ST £ -

(a)” 81 cm?/c:fi: /o1, 3 i e

(b) 243 em?/t=:f:3/01.1.3 /A3 a3

(€) 529 em/tz:f:3/o1. .3 A A

(94 729 em? i/ .3 A A

B23-GM (EN/AS/BN/BD/HN) 8 3047



) The median and mode of a data are 33 and 45 respectively. Then its mean is
b1 ST VYT F I AYIFH 33 # 45 2 (@A NPT~
GTTD STRIA FUAT 9% 3279 YA 33 938 45 207 W) 23 -
T i AT 3 Aderisn wifd 33 3 45 srEveen ewfa Fie -
U HATHS T ATHH 3N ageh sHuw: 33 3 45 B, A gHH oA R -

(ix

@ 30 (b) 33 %
(c) 27 Ay 35 =

(x) The probability of getting a number 8 in a single throw of a die 1
451 el @I IR § TR TEife 7' -

3B THeb 9 A 8 “itenr TSl T —
HH STEE! WEE TREEETE 8 FHE STEmEamE S —
T T B TF TR FE o 8 g Y il & -

3 2
@ 3 4 3
(c) 1 W@ 0

3. Answer the following as directed :

o wepilce Tl o
feretepTTE T@q e
f&tharﬁ?rﬁﬂ:rm—é
e & srgar I i ;

Mhat is the area of a rhombus whose lengths of diagonals are 8 cm and
4cm? 1

Bt s o ot O 8 R A 4 e T e R R 2 $ O
3% 79I0™ i o Of 8 G s 4Tz TREaTE TR Y @
T TETE @ EE! A weuRa wiid 8 Ay AR 4 ¥y s
TEETS T A ST 2

T T H1 g #1 ' e g1 il ) o s 8 3 it

4udig ?
B23-GM
(EN/AS/BN/BD/HN) 9 3047



. ' L "
}i,i’i Find the smallest number by which 4/27 should be multiplied so as to get
rational number

D! DR 7% A \[27 % 3 T b W Al o1t T O

SR Bfersa |
W@Bmﬁmﬁﬁm\]—wqﬂqwqmﬁﬁmﬂmﬂwm
o738 MG @3 T |
aafigs e SR 27 @ areee A s St He
g o st feg |
e B Fe i o fred 27 3 n T W U iy He ST @ |
(ijf) What is product of the zeroes of 4x2 + 8x ? 1
437 + By I (RO AT F 2T 7
457 + 8y — @7 M Bfera g $1 272
4x2 + Ry T enira ® R grmaTTEET WS 7
432 + 8y F YII T UGS FTR ?
(i¥) lt; n is the degree of the polynomial p(x) then what is the number of zeroes |
of p(x)?
7fér BT IE p(x) A AN n T (B0Y IRAMCBI o054 72! fpaiwy '3 2
Tftt GpfB AT p(x) — 93 Tl n T OIZE IO LA TR FS T ?
fe AR faem el p) B fofa 0 9 s fage Maif e @
HATTHTET ST AT ?
f et 89g p(x) T U n &, A p(x) 3 AT I HE 71 @A 7
-{y/ Write true or false :
Ox + 0.y + k=0, (k # 0) is a linear equation. 1
e} 31 S7e) o -
Ov + Oy + k = 0 (k # 0), 4B TaRes e
Ox + 0.y + k = 0 (k # 0) 9375 23R AT
A v g o
Ox + 0.y + k = 0 (k # 0) 37T T2 FRGIATR GHAT |
qI T mw:

Ox + 0.y + k =0 (k # 0) T tg gl 2 |



-[)ai’l/éi“d the number of solutions of the equations -
v-4y+6=0and3x - 12y + I18=0 2 ) Tz ATz 1

oAy 6= 0TI Iy 12y + 18 - 0 RNPATT T H2A fadfa @41 |

Vo dy 6= 093y 12y + 18 - O e T e forew A |

W dy 6= 03y 12y + 18 - 0 wEEeTEE HEgats st fegd |

vody +6=03M 3 12y + 18 = 0 FfieR % gl 1 HEn A FI |

(vi) What is the condition if the roots of the equation x2 + pr+ ¢ = 0 are real
and unequal ?

22+ px + q = 0 TR 371 751 A8 S ST (RIS 560D < 2

x4 pr + q = 0 1 EReba o1 7% T R I 2T G I 2

X2+ px + q = 0 FHFYTER Ugr AR A R FHA ATE AHEH TerEEr 6 ?

FHFT 12 + pr + q = 0% P M arfm @ e A Id F R ?
=

{yirf)"i?\‘a’hat is the value of ¢ if the roots of the equation ax> + bx + ¢ = are equal ? 1
ax? + bx + ¢ = 0 FANFATHR T HB TNF L F c I 527 2
ax? + by + ¢ = 0 AP &7 7fb FAH A ¢ 99 I F9 ZJ ?
ax? + bx + ¢ = 0 GATTEFA T FH-E1 FHH Arveen ¢ B3 7w 5w me 2

afe Geffeor ax? + by + ¢ = 0 % q TUSLE , A ¢ 1 HH 741 AW ?

(ix) What term of the A.P 2,4,6,8 ...... will be 50 ? 1
Fl
2,4,6,8 ...... OB Ry 4w 50 ] 2 ;%m

2,4,6,8...... 2513 TS T T 50 A ?
2,4,6,8...... g Sy aa fgrama 50 ¥wA 7

AP2,4,6.8...... 1% F1 92 50 8 7

B23-GM (EN/AS/BN/BD/HN) 11 3047



How many terms of the A.P. 24, 21 18, ...... must be taken so that their
sumis 78 7

2430 18 v 2 T &5ET5R Reuinb! ow wice Frzea @ 78 X3 2
24,2118, ...... % req eafefba T o M s e 78 T3 7
2421, 18, ...... d gAGe Smfufy S faem adisen s\ gEmETE
78 ST 7

AP 24,21, 18. ...... & frea ugi %1 am 78 €nmr 7

4,  Answer in short :

WW&N‘I:

AT TEA WIS :

ge'd e gt

89 § I A

(i) }Enca triangle AABC, DE||BC. If AD = 1.5 cm, DB =3 cm, AE = 1 cm then
96! frg® AABC @ DE || BC | 3t AD = 1.5 &:f:;, DB =3 ®&fi:;, AE=1
& W@ EC="
9316 fag® AABC T DE || BC | 3% AD=1.5@.f., DB=3 G1.f4.,, AE=1
CL.N. WG EC = ?
T8 JMETRITE AABC 31 DE || BC | 9f2 AD = 1.5 @fy, DB = 3 afy,
AE = | 9fty 9/ 378611 EC = ?
w+ fnist ABC # DE || BC 2 1 3% AD = 1.5, DB =3 ¥t 3i AE = | &ft

1

&, AEC="
N AB_BC_CA : ; .
i) In AABC and APQR. QR - PR~ PQ en what is the triangle, similar to
APQR ? 1
AB BC CA
% AABC &% APQR QR ~ PR ~ PQ T (5T APQR 37191 T (=R
froei @ 2
AB BC CA
M AABC @38 APQR — &% QR ™ PR~ pQ T O APQR - & 7
fagets 9 2
AB BC CA
e AABC 3 APQR —@-=W=%m AT APQR S HE@® ™
mETremy a7 2
AB BC CA
o2 — = ?
AABC 3R APQR ¥, Ok PR~ PQ 2, @ APQR % Tued 97 Bryw 2 1
B23-GM (EN/AS/BN/BD/HN) 12 Sod¥



i What are the co-ordinates of the mid-point ol the line joining the points :
(1 £ !

N (-24:8) and (8. 37 -

(25 SIF (N )R cadiq waifaya ks e 2 2 %

(2.5 9N, 3) R (a91a waifaya s S 2

(205 FA (S, 3) e graraang gy e faifa amafy faam a7
faigafl ( 2. 5) 3 (8. 3) &1 e aret t@rae ) Av fag 1 g #n R 7

It the points A(6. 1). B(8. 2). C(Y. 4) and D(P. 3) are the vertices of a

()

‘ parallelogram. taken in order then what is the value of P? 1
W A6, 1), B8, 2). C(9. 4) WF D(P. 3) RFRG! <30 FACS 90!
AN T 5 2 (S P I T 5 2’7 2
W A(6. 1). B(8. 2). C(9. 4) 932 D(P. 3) afe 2 Fw «3fb Fragfares
M 2 o1 P-93 T F© 7 2
T2 A(6. 1). B(8, 2), C(9. 4) 3 D(P, 3) faierfy femgeensta wiftd fufaf
fa=st smat avsan P 3w = S 2
afe fig A(6. 1). B(8.2). C(9.4) 3R D(P. 3) T GHTeR Fqu+ & ¥4 36t w0
7 g, a P 1 9«1 8 7

¥ Value of tan 48° tan 23° tan 42° tan 67° = 2 I
tan 48° tan 23° tan 42° tan 67° I T\ = ?
EEE
tan 48° tan 23° tan 42° tan 67° G qi{ = 7 E’%
tan 48° tan 23° tan 42° tan 67° AR = 7
tan 48° tan 23° tan 42° tan 67° HTHH = ?
(v)Y" What is the value of 2 tan45° + ¢0s230° — sin260° ° 1

2 tan® 45° + cos? 30° - sin? 60° I T 5 9
2 tan” 45° + cos 30° - sin? 60° I I A 9
2 tan” 45° + cos 30° - sin2 60° Famra 7

2 tan” 45° + cos? 30° — sin2 6()° FIAH TR ?

B23-GM (EN/AS/BN/BD/HN) 3 i



. . circle of
) What is the distance between two parallel tangents drawn on a :

radius 4 cm?

1 (2. DI JTS D! TGN =i e e g A 7

4 ¢ APICER 08 S1@! TGl e 7o T0 539 92

+ &y BTy S REETa fo i FE A T ST e 2
+ 20t e Y s g e ) e e et 35 ot <61 g A EM 7

l\)}({'l'lu length of a tangent from a point A at distance 5 cm from the centre of
1

the circle is 4 cm. Find the radius of the circle.

363 (Al 5 (=& 7aTe 93l 9Bt 45 A 3 71 > autee ordf 4 T |
JEIHIR AP et 41 |

e (% (T 5 G, 0T A G R A-aq T @it s o
47109, | 38 e ot st |

dE e 5 4f SHeTsaE amE B A Fwe Fiiie gEr gEE
STgYTEa 4 3y | SEAl wEE g |

g % g & 5 4l 1 gl W fya faig A & & 718 v vl T Y Fars 4w
2 | g <t e 3ma Hifor |

(iy/The length of the minute hand of a clock is 14 ¢cm. Find the area swept by

the minute hand in 5 minutes.

<51 w81 ffabe SibreeE T 14 w=:f:, 5 Rfe w87 Fibrerem 7/ wor
Fifet Sferea |

b Wa fafvse SO oref 14 B, 5 RFG ofer 30wt 9o
CpaEa oy 3 |

T8 aftfy fafre iy aeems 14 afh, 5 fafveane fafve geE Tarky sER
Ty fega |

Euﬁ%mwﬁ@aﬁm 1430 2 1 5 Bre 3 o ) g % g
& 1 A |

1

B23-GM (EN/AS/BN/BD/HN) . _ -



5.

(x)

If the difference between circumference and diameter of a circle is 30 cm
3 : 5 ( 22)
then what is the radius of the circle ? [ use 3 1

7f G5 J8I AT w1 qipia sirefar 30 e 20 ey gatha AP o

g )

237 (IWH 1
3t @2fb 0 AR @k a1 st 30 G 2 etaE e apnd A
23?7 (TRATA -2

fe A8 SEA FRffE Ry 3 @ wrEty wrem 30 #f S s At
a'wmwﬁa?[mn;%ﬂ)

afe wh g H1 afify 3 smmm F 30 i w1 37 2 A g9 Hi B w0 Ef 2

[n=%ﬁ§?ﬂﬂiﬁl] o
- =R

Fill in the blanks choosing the correct option from the alternatives given in the

brackets :

T4 oo frl faesitares o[t ww Seaw! aifk i 512 o1 41 -
7FA oo renl Rawef i@ va Teafb @ fo <mre «ff @

ICIGICH!
Fu 3 fou o freed] 3 @ GE) IeR AT i T B %ﬁﬁ

y If the volume of a sphere is 288 7 cm? then radius of the sphere is -

(6 cm/7 cm/ 8 em/ 10 cm)

OB (NP WToA 288 1 RS LA (IFPORIAHEI
(6 T:f:/7 w:fi 8 @l 10 =fy)

G (SR TS 288 1 (1.1.3 2 torreaing e =@ .
(Neahi RuRe At R N A RAT Renr A

A8 el T 288 Al s ge | '@ S :
(6 a7 @ 8 |fa 10 af)

7E Uk Tt 1 HAFGH 288 7t em’ B, dl el & s 2 _
(6 |eft/7 Bt/ 8 Fdfy/ 10 &)

B23-GM (EN/AS/BN/BD/HN) 15
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S ) : . , . eenmference of
[y} I'he curved surface area of a cylinder is 2200 ¢m- and the circumferenc
] 1
the base 1s 220 cm. The height of the cyhnder 15

(dem em [0em 3em)
< @R @ spifA 2200 eifa wi ofia wfafy 220 AATDA
Tl %' (4 a1 @fa 10 @fi 3 efa
Gt @ 4F AR 2200 G @R S sffafi 220 LA | EEION
welz® @oifuiwfaomi 3w
fa TR den feg s 2200 8Fe sm gty wwdlE FEEEn
220 ftr | g s SEA (4 of/1 Ff0 7 3 80)
e S 1 a5 T Ghet 2200 em? & 37 3ma bl afefiy 220 em &, FEH
1 3= 2 (4 3t/ | Fefty 10 Bfl/ 3 @)

_gjﬁ{lf the mean of x. x + 3. x + 6, x + 9 and x + 12 is 10 then value of x
(5/4/9/8)
Ao r v+ 3 x+6, v+ 9TFEx+ 12 I MY 10 W (SW x 92T

(5/4/9/8)
M ox x+3, 6+ 6, x+9 & v+ 12-97 Y 10 W SA v-4 T T

.(5/4/9/8)
Ff v, x 3,0+ 6, x+ 9 IR x+ 12 T AR 10 TR 3981 « T 5= s

(5/4/9/8)
qﬁ-’i.x+3,_\‘+6.x+93ﬁ'{.\'+ IE%TWIU%,H}_\'WW_Q}NT |

(5/419/8)

B23-GM (EN/AS/BN/BD/HN) 16 3047



éprohahilily of an impossible event is (1/5/0/76) 1

v

. apersT oA EfReIR's . . (1/5/0/6)
G TSI EIReIZy . (1/5/0/6) EEE
A ey s S ST (1/5/076) ®
T omvE T R @ e 1(1/5/0/6)

( ‘)/A die is thrown once. The probability of getting a number less than 5 is

— 355 '
51 It @31 TR A st 7' | 5 7 e IR TSRS 2T
(2/3/6/3]
< AT GRRIA CHCR ST 2T | 5- TITE (i e A1 e 8ot =
___—[2/3/6/3J
A TR Qe TREEE S | 5 frgg 3R sElen S s

5,2

i (315/505)
qmmﬁaﬁqamﬂmww%@ﬁmmmﬁﬁmﬁm%
[2/3/6/3J EEE

ER

B23-GM (EN/AS/BN/BD/HN) 17 3047



SECTION — B/ ¥ —™I /¥ — 11 / w—amgei / S5

/6./ Factorise : z— 7 + Txy — xyz

@QWW‘TW cz—T7+Txy—xyz
Beowe REI IR 2z -7+ Txy —xyz
fegafit fafit . z— 7 + Ty —xyz
quﬁﬁﬂ'ﬂl:z— 7+ Txy —xyz

J/ Show that 5 —\E is irrational.
(TYSRN @ 5 /3 ST |

T8 @ 5 — /3 ST |
Ry 2 5 - /3 30 Uasitafy |
firg g 6 5 — /3 T sfam gen 2 |

Mn AOPQ, right-angled at P, OP = 7 cm and OQ — PQ = 1 cm. Determine the

values of sin Q and cos Q. 2
AOPQ ¥ P WG &% OP = 7 & &F 0Q - PQ = | (®f: | sin Q W%
cos Q AT My 31 |
AOPQ &% P SWGRIM &2 OP = 7 Cf: @3 0Q - PQ = | @i:fi: | sin Q @R
cos Q - 9 T ey et |
AOPQ i P 31/ @Ry @, R OP = 78 0Q - PQ = 1 & 15in Q 31RY cos Q
fram feg |
AOPQ # firasr F1ur P gaaIvl 2, OP = 7 &t 3 0Q - PQ = 1 & 2 | sin Q 3k
cos Q % W 3a Hfrw |

18 3047
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|
cos (A + B) :"1' where 0° < A + B €£90° and A > B,

‘/C)_/Ifsin (A — B) =35, cos 2
find A and B. i 2
gff sin (A Bl-—zlw~(f\+H) -lms(ruA»B<qu°m=FA>B CSTEA
A &F B R 3|
txﬁ'ﬁinm—B)=%.COS(A+Bl=%.CWTGIO°€A+Bs90°@I{A>B,W
Auﬂ'ﬂBﬁ‘f’JWl
2 sin (A - B}— cos(A+B)—~atrsr0°<A+B<90°anﬁA>BamnA
R B @ TET |
zﬂ&sin{A—B)=%.cos(A+B)=%.0°<A+Bs90°,A>B§,?hAaﬂtsw
1 714 T |

Hari tosses two different coins simultaneously (say, one is ¥ 1 and other is T 2).
What is the probability that she gets at least one head ?

=T 75! o7 ot et By FRTe (41, <6t 1 THm i Wt 2 GRR) | (98
S IS 9B @ TARE TSRS & 2

2R afb fom J@t @IoTH B IR (Y, 93 1 R @R S 2 B | o W
FRS G ¢ *NeTR TS F ?
mmggqggaawﬁaﬂmwmﬁm@mlﬁﬁm&arhmmz
T @rRR) | fdt @ueTEETE! 298 WU HHATE STETEEE At ?

TR 2 firr- Rt farr! 1 Ueh W IBTer 2 (T S T e X 1 91 2 sl gEa
w1 7 2 F7 R) | 3R o1 wifehan @ F a8 W @ e R e o ¢

2

Il. Solve:x+y=14,x-y=4 3
Y e =14, x—-y=4
NI :v+y=14,x-y e
TR IR x+y=14,x-y=4 $
AT g o+ y = 14,0 -y = 4
m%:_\'—#y:l{_\-_y:&l
19 3047
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=2,

b | —

12. Find the roots of the equation 2y +
2 a2 NP o7 (F20! Ofersa |

= 2 FAPATR THLEHA @@ 3 |

222 + 5 = 21 FEAYTSFA Tgreraat feg | _

mﬁaﬂmz.rh%h-%%ﬁaﬁmﬁﬁq |

22 +

M=t = ho|

13. How many two-digit numbers are divisible by 3 ?
75! SBRME 219 P01 3 3 sty 2
i o RE Ty e 3 w1l e 2
A1 gl AT SR SEed 3 S s |
Q1 i arel! fohaft F@md i & frsa € 7

14. S and T are points on sides PR and QR of APQR such that ZP = ZRTS. Show
3

that ARPQ ~ ARTS.
APQR ¥ PR ¥ QR 1%d &*FS S & T 70! % IS £P = ZRTS | (TYEA

ARPQ ~ ARTS |
APQR—&F PR 43R QR 128 TAtg S @2z T b fg ITS 2P = ZRTS | (I8 W
ARPQ ~ ARTS |

S 3T T 31 APQR 3 PR 3R QR 3rm@tff gram a7 fa=) St 2P = ZRTS |
fefR 8 ARPQ ~ ARTS |

APQR ! =3t PR 3 QR W waw: foig S 3k T 38 won @ € &%

/P = /RTS & | guiist f% ARPQ ~ ARTS 2 |

15. If A(=S, 7), B(— 4, -5), C(~1, —6) and D(4, 5) are the vertices of a quadrilateral,

Find the area of the quadrilateral ABCD. 3
I A(=5, 7). B(~ 4. -5), C(~1,-6) F D(4, 5) 20! <61 e M =7,

(ST8 ABCD SgEeh Fifa Sfereat |
% A(=5, 7). B4, -5), C(-1.-6) @R D(4, 5) fafet @i vgdrem M =,
TH ABCD 5gEEbe Capareesi foiefy et |

& A(=5, 7). B(~ 4, -5), C(~1. —6) 3 D(4. 5) BrT & 3raf=raify RuRafy iy

ST ABCD saTfusi geemsty feg |
IR A(S, 7). B(- 4, -5), C(-1, —6) 3T D(4, 5) T =947 % d & &t 30 =

A% TT9 Hifd |
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y/pm\:c (hat in two concentric circles, the chord of the larger circle. which touches
e 3

the smaller circle. is bisected at the point of contact.
e T @ 75! IBID 36, ©led @B STl FE JEWHE = I,
ST Wf'fﬁ‘i@ sefas 5y |

st o @ b detafas gare, qu gafba ot @b gebes =« Faca, s’
mopeffE® ST 24 |
g @Ed & AR el dewame gife dweet gifaeam afg St

fyfergi@tan TiAE fa=E3ma ) g s |
firg T o Q1 Fh=a gl 1 92 g9 1 ST S Bie I 1 @ FAl 2, o fog
g EfEITTa B € |

=

A horse is tied to a peg at one corner of a square shaped grass field of side 15 m
3

by means of a 5 m long rope. Find
(i) the area of that part of the field in which the horse can graze.

(ii) the increase in the grazipg area if the rope were 10 m long instead of 5 m

(use m=3.14)

|5 D 2T @2 ISP Wref A @Bt e @bt 4f5e 5 R e 1’|

951 CaraT 1R TR TR
(i) TNIRICH 36 5T #M1TT ARs 73 SReBR Foife fefy < |
(i) W IRISr 5 A5 w10 bR fMee 20, 59 st 3 T @ |

(=T 9 = 13.14)
15 54 ared «lb IfTFQTE EE Toa 9@ @ 93fs AfHors 5 o tafe

M g @3fb (It (@Y AR TR |

() CareiB I 5 T (4TS SR T 12 SiBa copaeet foref o2 |

(i) 3 7% 5 fbzm <RRTe 10 WOk OrefT =8 5 A Sy 3w ey
I | (I2T IR = 3.14)

T TEE! 5 fier Mers feget 15 fier smaf aF o w1 am e wem

T8 @ I ey Reen AEEaE @R g | EEE

(i) BRmA sTerif geaTely figa S Tgs e S EE | E‘%

(i) T FEn qeeTsEt aREE fog it fewet 5 frenfy dem 10 frer e
@M | (n=3.1489) ,

I§Iﬂagmmﬁ@mm%m%@aﬁmaﬁt{%ﬁ@aﬁ%ﬁsrﬂa

(i) %M % 39 W &1 §6e TET Ul HTg 9 gHAT § |

(i) ﬁmmﬁmﬁqﬁ,ﬁﬁéﬁsmﬁﬁtﬁﬁ%mwmﬁa
1ot Tt A Wl e o | (o = 3,14 = vEm FIf )
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A hemispherical depression is cut out fr s s of & ciibicsl \quen block
\W5}1C':lu;f]ll;rIlll:i‘utlli!'llt::(!::.‘tr‘ “:’"Iul" Ilillc l[lr;ll:li‘!il(;lllll::'nii l:;;;:iﬂt: :h:: edge of the cube.

Determine the surface area of the remaining solid,

b1 TN 152 GAI B! DAl bl s wigfea st b A 2R

TS AT AP [ G0 I DI L 337 | wiafwp, wienja 4paiia =08 T |

SAddR SR e B S EPT U pe. sm—— i A

(1SN 2R WS NN BT */° G @licwg siF 7ai 28 | FarHe S

aﬁi:"jﬁ faefy ot |

mmﬁ@ﬁ“r‘mmﬁ@mw | 31z1 o e sEE =g

Tesenat fega |

T ST ScTieh o T BT o) et T 30 A iz & uh S7e7Ielah TEel 39 THH

AN T R o Siefiel s o 3 e Rt % e 2 | 3 A 3 g

HIHS [1d HIFT |
Mf the median of the distribution given below is 28.5. find the values of xand y. 3
wﬁwwwaﬁza.smm.\-wyam@%w |
e Rrstem v 3fi 28.5 27 oz » @ve Yy~ T ey T |
M TE e AT 9 28.5 WY sveer « A y B feg |
qﬁﬁﬁqWEﬁWWZS.S%, ?ﬁxaﬁtymmmﬁﬁq I
[ Class interval/G= g1/ F requency/JfaZqer/ |

3

| =N SEey /T Wi/t st IR TR/ aRERaT
0-10 s

I 10-20 r X

20-30 ‘ 20

30-40 15

40 - 50 / y

50— 60 5 ]
| Total/{b'/tﬂfsﬂn'af% ' 60 ]

26 Construct a triangle similar to a given triangle ABC with its sides equal to%of

_ 5
the corresponding sides of the triangle ABC ( L.e. of scale factor i) 4
b1 ¥ fagw ABC 3 sl @I b firgw Wil TS B TR AR
5
RO STt 119 3 agrq T | (Wﬂﬁ?f@‘?“ iﬂ '
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qafy B g ABC- o ] W) a5l fags sie Tice @8 Tagf ABC

wmﬂ W@%ﬁ%@m Wﬂ{wflﬁ @H*Fﬂ?ﬂ%uﬂﬁ)@ |
Mwmﬁw ABC i Wee e HHE st Hhe e o

m@@uABCw@ﬁﬁmﬁm-mﬁﬁmﬁéﬁw1[§mmﬁzﬁﬁ}

3 3
e g e Pt ABC % wwE U Brgst ) v ifw, Rereht qemd Bt ABC 1
@mw:}ﬁ?ﬁ%‘él (mﬁﬁm%%]q E%
OR / 7% / &3t / T& / averan =

Construct a triangle of sides 4 cm, 5 cm and 6 cm, and then a triangle similar to
2 - .
it whose sides are 3 of the corresponding sides of the fist triangle. (Write the

steps of construction.) 4

4 cm. 5 cm S 6 cm T <t fags e 4! wiF O e 2 AP @ats
- 2
<1 TG S 1 A9 AL & (ageiBly el A 3 B W | (SR

oA AT 1)
4cm, 5 om R 6 om T G s S T SR SRR 1 A7 GG e

wwmﬁmmmwﬁa%mm | (e < o 1)

4 cm. 5 cm AR 6 cm @R A smEfem sl A A e wEE A
amﬁm(ﬁ%wwﬁl(aﬁmmrﬁ@f‘wl)
4cm.5cm3ﬁ(6cmgﬂnﬁaﬁﬁﬁﬂqﬁmm3ﬂ1mm8%q@
571 Fis ) e ifrg, R o Fe g B o w13 A
(v 3 <ot i forfae 1) |

}l./lt"two zeroes of the polynomial 2x* — 3x% — 357 + 6x - 2 are /2 and —[2 then
find all other zeroes. 4

24383 - 32 4 gy — 2 TROCHI YOI 0 /2 T 2 | TR IIe20! %7 forefy 4 |
243332 1 6y 2 T A B A2 SR 2 | Tl X e e |
24393 332 4 gy - 2 Farere eI 2 @ 32 AR A2 | 9
e N2 3R 2 1 3 31 e
TG 204 3032+ 6r - 2 F A IEH A2 3l \2 & @ 3wt g

A= = Jx= +ON —2 -2 £
T Hifdyu |

0]
Ry
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